1. IRFBEROMEE (REmicksmEs)

R R L oML

[FF 1]
QIR x2—2x—15=0 ZfRE72EW,
(7 B 2002 4 B)

i

o=

R

x=—3,5

figan

FENZRES LT, (x+3)(x—5)=0 x=—3,5

[RH 2]
TWRITRRENR x2—Tx—18=0 AEfREIE,
(T 2002 4 )
s
x:
iR s
x=—2,9
i
FEiDERERUT, (x+2)(x—9)=0 x=-2,9

[ 3]
QW HFFER, x2+3x—10=0 ZfRX/2X\,
CHrIE L 2002 4E)
i
o=
LR
=

fifE R
x2+3x—10=0 FLNERBHETHE, (x—2)(x+5)=0 x=2, x=—5

I\

, =5



[ 4]
TIRFER, x24+2x—24=0 ZEXXUN,
(=HEIE 2002 )

P A

x=
fiR

x=—6,4

i ah

x2+2x—24=0 (x+6)(x—4)=0 x=—6,x=4

(5]
TWITRER a2+ 20— 15=0 HEE, ZOMITx= [ | TH5,
(BRI 2002 )

P2 A

=
fiR 22

x=—5,3

fifE

x2+2x—15=0 FEHERESHELT, (x+5)(x—3)=0 x=-—5,3

[ 6]
QM BFFER, x2—8x+7=0 ZHMX/pEV,
(A B 2002 4 B)

P22 AR
-

figses

=

x=1, 7

fifE
x22—8x+7=0 (x—1Dx—7)=0 x=1,7

[RH 7]
QIR FTFE x2—bx+6=0 ZMHX/2EV,
CHTFIR 2003 )

P22 AR

o=
il 2

x=2, 3

fifg

¥2—bhx+6=0 FELERESMLT, x—2)(x—3)=0 x=2, x=3



[ 8]
QRFTER, x2+4x—12=0 ZEERE,
(Wi AR 2003 4F)

P A

x=
fiR

x=—6, 2

i ah

x2+4x—12=0 (x—2)(x+6)=0 x=2, —6

[ 9]
QIR FTFE x2—Tx—18=0 ZRX/2EV,
CHrIE I 2003 )

fifE A

x=

i

x=—2,9

e

EEDERBOIRT DL, (x+2)(x—9=0 XoT, x=-2,9

[ 10]
WD FERE MRS IZ,
x2+6x—16=0
(IUALR 2003 4 )

P22 AR

fig i
22+6x—16=0 (+8)X(—2)=—16, (+8)+(—2)=6 =05 XD DZRE 3 iEL T, (x+8)(x—2)=0
F0, x=—8, 2

[F911]
TWRFER x2—10x+9=0 ZiRE/RE,
(ZHE 2003 4 )

FR 22 AR

x:
i o5
x=1,9

i)

x2—10x+9=0 ZABZEREIELT, x—1D(x—9)=0 x=1, x=9



[ 12]

TWITRRA x2—x—12=0 ZEXE,

i

ENERE SRS DE, (o +3)(x—4)=0 X-oT,x=-—3,4

[ 13]
WD IR SRR AR E S,
x2—2x—8=0

F 22 AR

x=
fiRo
x=4, —2

iR

x2—2x—8=0 (x—4)(x+2)=0

[ 14]

TR 2—6x—16=0 Zfif<L, TOffiZx= [ | THD,

FE2EAR

x=
ARl
x= —2,8

fifE e,

x2—6x—16=0 (x+2)(x—8)=0

[f 15]

x=4 x=—2

x=—2,

TR a2+ 6x—T=0 ZMEELREN,

x2+6x—7=0 (x+7)(x—1)=0

x=—"1,

1

(CKBRAF 2003 A4EE T

(Fngk LR 2003 4B)

(BRI 2003 )

(R B 2003 4 F)



[[# 16]

TR x2+5x—6=0 ZHEELIU,

fi

x2+5x—6=0 (x—1x+6)=0 x=1, —6

(R 17]

2GR x24+3x—10=0 ZEX/REN,

i 22

x:

ARz

x=—5, x=2

fifEaH

(x+5)(x—2)=0 x=2, —5

[ 18]

2 RFFER x2—3x—18=0 ZfRE/2E,

i 2 AR

x:

AR

x=—3, x=6

iR

(x+3)(x—6)=0 x=-—3,6

[F4 19]
2RITFER a2+ 2x—8=0 ZMEX/2IV,

s

x:

fip/ss

x=—4, x=2

fifg

(x+4)(x—2)=0, x=—4, 2

(ETIRF I 2003 )

(CHFE 2004 4EFE)

(f8 B 2004 4 B)

(R 2004 4EJE)



(R 20]

2 GFFER a2+ 5x—36=0 ZEX/X\),
CHE L 2004 4EFE)

P A

x:
/e
x=—9, 4

fiRt

x+9Hx—4)=0 x=-—9,4

(R 21]

2 WHEA x2+7x —18=0 AfiRE/RI0,
(EILR 2004 )

P 2EAR

x:
g

=]

x=—9, 2

(R 22]

TWITFRER x2—8x+15=0 ZEX/2EV,
(ZHEEL 2004 4F)

FRZE AR

x:

iR

x=3, 5

fifE R

T T15, 2L T—8I12725 28 —3 L —5, LT=MR->T, (x—3)(x—5)=0 x—3=0 F/i%, x—5=0
x=3, 5

[ 23]

TWITRRR 2—Tx+12=0 ZfEIT,
(R RF 2004 4EJ%)

i 22

x:

fipes

x=3, 4

fifEaH

x2—Tx+12=0 (x—3)(x—4)=0 x=3, 4



[ 24]

2 kTR a2+ 5x—6=0 ZfiRZ/2X\,
(fLJE IR 2004 %)

R AR
x:

FiR 2
x=1, —6

[ 25]

TWRFRERX x2—5x+6=0 L, ORI x=_ | TH5D,
(BRI 2004 )

iR 22

x=

R

2,3

fifE .

(x—2)(x—3)=0 x=2, 3

(R 26]

FFRER x2—2x—8=0 ZMRX/IU,
(B I 2004 4EBE)

PR A

x:

il 2%

x=4, —2

fifE

x—Dx+2)=0 LoT, x=4, —2

4 27]

TR FER x2+x—30=0 HEIT,
(B 2004 4EFE)

FR 22 AR

x=
fiR 2%
x=5, —6

fift e,
x2+x—30=0
(x—5)(x+6)=0
x=5, —6



[ 28]
TR a2—2x—8=0 ZfiE L, x= , X= ThD,

([ L 2004 4EFE)

PR A

>

figes
—2,4

iR
x2—2x—8=0
(x—4)(x+2)=0
x=4, —2

[ 29]
TR a2+ Tx+12=0 ZMEXREV,

(EIR I 2004 4EFE)
PR HH

x:
FiR 2%
x=—3, —4

[ 30]
QWHFTFER, a2+ 2x—15=0 ZfRX/ XU,
C&FIE 2005 )

PR A

fiAE.
x2+2x—15=0 (x+5)(x—3)=0 &Y, x=—5, x=3

[R31]
QIRFTFER a2—6x—T7=0 ZMHE/2EVN,
(R 2005 4EJE)

FR 2R

o=
fiR 22
x=7, —1

fiAE

22—6x—7=01%, (x—7N(x+1)=0 DI ETED,



[RH 32]
QIR x2—Tx—18=0 ZMRE/IV,
(Wi 2005 4 F)

R AR

=

fiRZE

x=—2,9

fifE R

FEDERESRELT (x+2)(x—7)=0

[F4 33]
TWITRRA x2—bx—24=0 AT,
(B#ER 2005 )

P 2EAR

x:
ARz

x= —3,8

et
x2—56x—24=0 (x+3)(x—8)=0 x=-—3,8

[ 34]
QIR FTFEIC x2—8x—48=0 ZRX/2EV,
CHTIE I 2005 4 )

i 2 A

=

iR

x=—4, 12

iR

x2—8x—48=0 (x+4)(x—12)=0 x=—4, 12

[[4 35]
2 ITRERN, a2—4x+3=0 ZHEE/I0N,
(B I 2005 A BE)

FR AR

x:
fil2s
x=1, 3

fifE

x2—4x+3=(@x—D(x—3)&LY x=1, x=3



(1 36]
Fif 2x2—8x—10=0 ZfEE/eSu,

fiR A

x=

i

x=—1,5

fiAE

2x2—8x—10=0 x2—4x—5=0 (x+1Dx—5)=0 x=-—1,5

(4 37]
T ITFRR a2+ 7x—18=0 DOfEERD L,

2+Tx—18=(x+9)(x—2) x=-—9,2

[RH 38]
TR a2 +4x—21=0 HRELEV,

e

x=
fipss
x=3, x=—17

fifEaH

x2+4x—21=0 (x—3)(x+7)=0 x=3,x=—7

[ 39]
WD IR FFRRREfREI2I 0,
x2—4x+3=0

FR2ZAR

x:
il
x=1, 3

s,

x2—4x+3=0 LD ERE T HE(x—1)(x—3)=0 XoT x=1, 3

(JLELEE 2005 4R

CEBIF 2005 4EJ)

(KFRFF 2005 4EFE fijH)

(FnEk I L 2005 AEBE)



[1# 40]
FERX x2—2x—15=0 ZfiRx/ X\,

R AR
x:

figes
x=—3,5
fiAEIL

x2—2x—15=0 (x+3)(x—5)=0 x=-—3,

[FH 41]
TR x2—4x—32=0 ZfiRlT,

FRZ AR
x=

fies
x=—4, 8
fifE R

x2—4x—32=0 LN ENE T DHE, (x+4)(x—8)=0L~>T x=—4, 8

[RF 42]
TRFER x2—6x+5=0 HEXRI,

P22 AR

x:
firvs

x=1,5
fifE R

2—6x+5=0 (x—1)(x—5)=0 x=1,

[ 43]
QIR x2—x—6=0 ZMEE/ IV,

P22 AR

x:
ARl

=

x=—2,x=3

5

5

(f 1R 2005 4EF)

(BB 2005 )

(EIGE 2005 4£JE)

CHTFI 2006 FHE)



[RH 44])
QWHFER, x*+bx+6=0 ZfRX/ XU,
(IR UL 2006 )

P 2E AR

[ 45])

2 RFTFER a®+Tx—18=0 ZfiRZX/2&u,
(WAL 2006 )

[ 46]
TR 24+x—72=0 EfEIT,

(R ALHL 2006 4EJE)
|

x:
Rl

=]

—9,8

[ 47]
2 WG R x2—5 x—6=0 ZfiFX/ 280,

(LK 2006 A
i

x:
firvs
x=6, x=—1



[ 48]
WD IR FTEREREREN,

x2+3x—10=0
(FRak LI 2006 4E1)
FRZE AR
x=
fiesss
x=—5, 2
iR

x2+3x—10=0 (x+5)(x—2)=0 x=—5, 2

[ 49]
FRRR x2—38x—18=0 ARXpE0,

(KB 2006 4E)
i

o=
i 2%

x=6, x=—3

fiR

x*—3x—18=0 ZWERE/IMHLT, (x+3)(x—6)=0 x=—3, 6

[ 50]
2 WFRRA 2+ 2x—15=0 Zf#IT,

(B EnE 2006 4 EE)
fiR A

x:
firvzs
x=—5, x=3

[ 51]
2 WHFER a2 —4x+3=0 2L, x= , x= THD,

(FIFIE 2006 %)



[RH 52]
2 WHFER, 22— 2x—24=0 HRXEV,
(ErHR UL 2007 HEEE)

P 2E AR

[ 53]
QWHFER 2 +4x—12=0 ZEX/2X0,
(5 B I 2007 42F)

P A

x:
fiees

=

x=—6, 2

[ 54])
QWA x?—x—56=0 ZfEX/ I\,
(I 2007 4£)E)

FR 22 AR

x=
fiRo%
x=—17, x=8

iR

x2—x—56=0 (x—8)(x+7)=0 x=8, —7

[ 55]
2QWFRRA 2+ 6x—T=0 ZfEX/ IV,
(iR 2007 4EFE)

PR A

=
fi2s
x=—7,1

iR

X +6x—T7=0 F 6, BN —T12725 2 2OIE—1 & 7T ENLIEDERBE R HE,
@+Nx—1)=0 £oT,x=—7,1



[[# 56]
TR 2+ 2x—63=0 ZfEIT,
(BRAL#HL 2007 4EJE)

P 2E AR

[[457]
QWHRR 2—x—12=0 ZfEX/ I\,
(B IR 2007 4B

PR A

[ 58]
WD IR TR AR E RSN,

¥—x—6=0

(CFrag L 2007 4E %)
fiR

o=
fiR %
x=—2, 3

fiFE R

x> —x—6=0 FIN—1, BN —6 12725 25T —3 L 27200, LElEREI LT,
x+2)(x—3)=0 x=—2, 3

(4 59]
AW, *—bBx—6=0 AfREX/pX\,
(A R 2007 4B

FR 22 AR

=
iRt 2%
x=—1, 6

fi

x2—bx—6=0 FIN—5, BN —612425 2811 L—6 k0, ERERESHLT, (x+1)(x—6)=0 x=—1, 6



[ 60]
TR - 9x+8=0 HRIT,
(g 2007 4£)E)

[R61]
2 WHFFER x?—3x—4=0 %R,
(Rl 2007 4 F)

P 2EAR

x:
g

=]

x=—1, x=4
iR
x2—3x—4=0 ENZRESHELT, (x+1)(x—4)=0 x=—1, 4

[ 62]
2 WHFFER xP—x—20=0 ZMRELE,

(5 B = 2008 4EFE)
fiR A

x:
firs
x=5, —4

[4 63]
2 WA x?—12x+35=0 HfRX7/2E0,
(I 2008 4EJ%)



[ 64])
2 WHFER, x2+38x—40=0 HfRXE0,
CHrIER L 2008 )

P 2E AR

[ 65]
2QWHER x2+10x—24=0 HfRX72E0,
(B LI 2008 4 )

PR A

x:
figes
x=—12, 2

[ 66]
QTR x?—6x—T=0 HfRX72X\,
(JUALE 2008 4EBE)

FR 2R

x:
fifss
x=17, —1

iR

x2—6x—T=0 FINBX—6, BN —TIZ725 283 —7 & 17200, ED%EREIRELT,
x—7Nx+1)=0 x=17, —1

(4 67]
TR 3% —6x—9=0 ZfEIT,
(LR IRF 2008 4E )
i
o=

fiR 2%
x=—1,3



(R 68]
RO RGN EMFEIRS,

x*—Tx—8=0
(Fnagk LR 2008 %)
fiR A
=
i o5
x=—1, 8
fig i

¥2—Tx—8=0 FIN—7, N —812722 2501T 1 £ —8 7200, il ZKE ML Tx+1)(x—8) =0 x=—1, 8

[4 69]
FREA 2+8x—20=0 AfEX/2X\,
(KB 2008 4F)

P22 AR

x:
fiees

=

x=2, —10

[ 70]
2 WHFER, x2+2x—8=0 ZfHT.
(B &L 2008 4)

PR 2Z AR

x_
fig/es

=

x=—4, 2

[ 71]
2 WHFER, x?—6x+8=0 #fHlT.
(R UL 2008 4 F)

PR A



[RH 72]
TWRFRER 2+ 2x—24=0 HfRX/oEUN,
(IR UL 2008 )

P 2E AR

x:
g

=]

x=4, —6

[F4 73]
2QWHRR 2+ Tx+6=0 ZfEX/ IV,
(TR 2009 £E)

PR A

x:
fiR &
x=—1, —6

[RH 74])
2WHFRR «2+5x—6=0 ZfEX/ I\,
(& B L 2009 4EBE)

FiA 25N
x:

fiR 2%
x=1, —6

(4 75]
2QWFRRA x?—2x—15=0 ZFEX/ 20,
(iR 2009 4EFE)

P22 AR

x:
fiR
x=5, —3

[ 76]
TR FREA 2+ 10x+25=0 AfEIT,
(BE#ER 2009 )

P 2E AR

x:
fig/es

=

x=—5



[RH 77]
2 WHFER, 22— 2x—24=0 HRXEV,
CHrIE L 2009 )

P 2E AR

(4 78]
2QWHRR 2—x—20=0 ZfEX/ I\,
(B IR 2009 4FE)

FRZHR
x:

figes
x=—4,5

(4 79]
TR 2+ 9x—36=0 AfEX/E,
(CRBRAF 2009 AEEE BTl

FR 2R

x:
AR

=

x=—12, 3

[ 80]
WD IR TR EfREI2 SN,

X’ +x—42=0
(CFnegk L 2009 42 7%)

it

fig 2
=—17,6

fifE R

x2+x—42=0 FON1, FENRN—42 12725 28T —6 & 77200, %R FEL T,

(x—6) (x+7)=0 x=6, —7



[ 81]
2 WHFER, P +x—12=0 ZMELE,

P 2E AR

[ 82]
TR 22— bx+6=0 EEX/E,

PR A

[ 83])

FfE 2—3x—18=0 i<k, x= [ | Tha.

FiA 25N
x:

fiR 2%
x=—3,6

[F4 84]
A 2 +H12x+27=0 ZfEX/ XU,

P22 AR

x:
firss
x=—3, —9

[+ 85]
2 WHFER P—x—6=0 AfEIT,

P 2E AR

x:
fig/es

=

x=—2,3

(JLJE L 2009 4EJE)

(B HUE 2009 )

(BRI 2009 4 )

(5 2009 1)

(R 2009 4 F)



[ 86]
TWRFREL 2—10x+21=0 AEX/RE,

P 2E AR

(4 87]
QWHRRA 22— Tx+12=0 ZMEX/pE0,

fiR A

=

FiRA

x=3, x=4

fiAE

2—Tx+12=0 (x—3) (x—4)=0 x=3, 4

[ 88]
2QWFRRA x2—5x—6=0 ZfEX/ X\,

FiRZE AR

x:

FR2A

x=6, x=—1

[ 89]
2 WHFER, X+x—6=0 ZfEX/X,

P 2E AR

x:
Rl

=

x=—3, 2

[ 90]
2 RFFER xP—12x+27=0 ZEX/2EVN,

FE2EAR

(EIF IR 2009 4£JE)

(TR 2010 £E)

(R 2010 4EFE)

(BAARIR 2010 4FEE)

CHris IR 2010 4EE)



[RH91]
QWHFER, 12— Tx—8=0 ZME/E,
(B 2010 4EBE)
i
x:
LR
x=—1, x=8

[ 92]
2 WHFER, 22— 4x—21=0 HfRXE0,
(IUALE 2010 4E))

PR A

x=
firs
x=—3, x=17

[F5 93]
QWHER > +4x—12=0 HfRX/pEX0,
(LR 2010 )
FRZ AR
x:
FiRA
x=—6, 2

[ 94]

TR - Tx+10=0 AHfRXI,
(BEUR 2010 £E)

PR A

[ 95]
2 WHBR 22 +2x—8=0 %fiEL, x= | , | b5,

(BRI 2010 4EFE)



[+ 96]
QWHFER &2 —bx—14=0 HfRX2E0,
(A K 2010 4B
i
x:
LR
x=7, —2

[[497]
TR 2 —8x+15=0 AEXI\,
(f85EIR 2010 4£E)

PR A

[ 98]
TR 2+ 3x—28=0 ZfEIT,

(IR 2010 £E)
i

x:
AR

=

x=—17,4

[ 99]

QWHBHFER 2+ 3x—4=0 DOFEDIL, /INSWNFHERD L,
(B 2010 4EE %)

P22 AR

2+38x—4=0 (x+4)(x—1)=0 x=—4,1 LkoT, fifD>H, /IhSWFHiTx=—4

[R5 100]
2 RHFFER 2+ Tx+12=0 AT,
(EIFIR 2010 £E)
i
x:
i3
x=—4, x——3



[ 101]
QWHFER, x2—6x+9=0 ZMX/I,

P 2E AR

[ 102]
2WHER x2—9x+20=0 ZEX/pE0,

FRZHR

x:

figes

x=4, x=5

[ 103]
QWHBFFER x>+ 2x—24=0 HfRX/EXV,

FR 2R

x:
AR

=

x=—6, x=4

[FF 104]
2 WFRRRA x2+3x—10=0 ZEX/ 20,

P22 AR

[ 105]
TRFBRA P —x—6=0 ZiEX/oEU,

P 2E AR

CATFE 2011 4B)

(B 2011 4EFE)

(RS 2011 4EF)

(JuJE R 2011 4E )

(IR 2011 AEEE 148)



[ 106]
TR 2 —8x—9=0 Efi#lT,
CRR#H 2012 4 )

P 2E AR

[ 107]

TR 2—x—42=0 AEXE,
(KBRAF 2012 4EFE BiHD)

P A

x:
fRE

=

x=—6, x=17

[ 108]

2 WA &2+ 3x—10=0 ZfEX7p 50,
(WA K 2012 4E)

P22 AR

x:
Rl

=

x=—5, 2

[ 109]

TR 2+ 4x—12=0 ZiRxeEU,
(fHEIR 2012 F£E)

P2 A

x:
fiees

=

x=—6, 2



[ 110]
QWHFER, x2—6x+9=0 ZMX/I,
(B 2013 AEFE 1%30)

=
ey
3

= R
=
K oo

x2—6x+9=0 (x—3)’=0 x=3

[F9111]
“ R ®—12x+35=0 EfEIT,
(R HHER 2013 )

5, 7
i,
¥2—12x+35=0 (x—5) (x—7)=0 x=5, 7

[ 112]
2RI x2—2x—24=0 ZFEX/2E,
(B L 2013 )

PR A

x—=

fip'ss

x=—4, x=6

fifE R
x2—2x—24=0 (x—6)(x+4)=0 x=6, —4



[ 113]
TR FRER 22+ 3x—28=0 HfiRx/cXu,
(CRBFF 2013 4R RifY)

x2+3x—28=0 (x+7)(x—4)=0 x=—17,4

[ 114]
2 WFRRA x2+3x—18=0 Zf#EIT,
(HRIE 2013 )

>

iR
x=—6, x=3
i an

x’+3x—18=0 (x+6)(x—3)=0 x=-—6,3

[F5 115]
2 WFRA x2+3x—4=0 %R},
(BRI 2013 )

A2
X—= y X—
fip'ss

x=—4, x=1

fiAEI.
2+38x—4=0 (x+4)(x—1)=0 x=—4, 1



[ 116]

2 WHFER, 2+ 2x—15=0 HfRXE,
(EdRL 2014 £ %)

i

x:

LR

x=—5,x=3

fig i

x2+2x—15=0 (x+5)(x—3)=0 x=—5, 3

[ 117]

2 WG x2—126—28=0 AfRX7/2E0,
(B 2014 4B

i 22

o=

fiR 2%

x=—2,x=14

FiREH

22 —12x—28=0 (x+2)(x—14)=0 x=—2, 14

[R7118]

TR A2+ 15x+36=0 ZfEIT,
(RLE AT 2014 4E5 HH)

fiA A

o=

fiR 2%

x=—12, —3

fifg

22+ 15x+36=0 (x+12) (x+3)=0 x=—12, —3

[f9119]

2 WHFER, 2 —8x+12=0 AFfEIT,
(BRI 2014 )

P2 A

o=
PR
x=2,x=6

fiR

¥’—8x+12=0 (x—2) (x—6)=0 x=2, 6



[ 120]

FHRER 2—bx+6=0 ZEX/oEU,
(BRI 2014 4FE)

i

x:

LR

x=2, 3

iRt

2—bHx+6=0 (x—2)(x—3)=0 x=2, 3

[ 121]
TWHERR 2—8x—9=0 DEDIL, ADLDEEZ I,

(ML 2014 455 HE51)
i

=
fiR 2%

x=—1

FiREH

¥—8x—9=0 (x+1)(x—9)=0 x=—1,9 EOILADLDITx=—1

[ 122]
2 TR a2 —4x—12=0 ZfifE/2E VN,
(WA K 2014 4B)

FE2EAR

w2 —4x—12=0 (x+2) (x—6)=0 x=—2, 6

[ 123]

QWG RA x2—9x+14=0 ZFEX/ 280,
(EHRIE 2015 4EEE @i

it

o=

fiR 2%

x=2, x=17

fifg

2—9x+14=0 (x—2)(x—7)=0 x=2, 7



[ 124]

2 WHFER, P +x—12=0 ZMELE,
(FEB L 2015 4EBE)

i 22

x:

i 2%

*+x—12=0

(x+4)(x—3)=0

Fo T, x=—4, x=3

i

X+x—12=0 (x+4)(x—3)=0 x=—4, 3

[ 125]

QTR x2—6x—16=0 ZFEX/ 20,
(IUALE 2015 4E)%)

P22 AR
x=

fiees

x=—2,x=8
figan
xP—6x—16=0 (x—8)(x+2)=0 x=8, —2

[ 126]
T FFER AP Hbx—24=0 HfRXE,

(CKBRF 2015 252 14 H0)
i

=
RS

x=—8, x=3

figwh

22 +5x—24=0 (x+8)(x—3)=0 x=—8, 3

(4 127]

2 WHFER, x2—8x—18=0 AfRX/pE0,
(LR 2015 4EE)

PR A

x2—3x—18=0 (x+3)(x—6)=0 x=—3, 6



[ 128]

2 WHFER, x?—4x—5=0 ZfHT.
(ZSRIL 2015 4E )

i

x:

LR

x=—1, x=5

iRt

—4x—5=0 (x+1)x—5)=0 x=—1,5

[ 129]

“WFERA 2+3x—10=0 OEDIL, EOLDEEZ I,
(FLR 2015 4R Hr5I1))

i 22

=

fiR 2%

x=2

FiREH

22+3x—10=0 (x+5)(x—2)=0 x=—5,2 x>0k, x=2

[4 130]

TR P2—x—12=0 iR,
(BB 2015 4£)E)

fiA A

=

fiR 2%

x=—3, 4

fifg

w—x—12=0 (x—4)(x+3)=0 x=—3, 4

[ 131]

TR P+ 8x—20=0 AEX/E,
(BRI 2015 4EE)

P2 A

=
PR
x=—10, 2

fiR

x2+8x—20=0 (x+10)(x—2)=0 x=—10, 2



[ 132]

TR FRRA 2+5x—6=0 AfEIT,
(#2016 4E)E)

i

x:

LR

-6, 1

iRt

2+5x—6=0 (x+6)(x—1)=0 x=—6, 1

[ 133]

2 WG R x2—12x+36=0 Zfi#iT,
(ZZRIE 2016 4E)

i 22

o=

fiR 2%

x=6

FiREH

x?—12x+36=0 (x—6)>’=0 x=6

[ 134]

TR 2 —6x+5=0 EEX/EW,
(BHUR 2016 4E )

A5 R

x=

iR

x=1,56

i,

—6x+5=0 (x—1)(x—5)=0 x=1, 5

[F4 135]

TRFER 22— Tx—8=0 HRXEIV,
(BRI 2016 4EE)

P2 A

o=
il 2%
x=—1, 8

s,

>—7x—8=0 (x+1)(x—8=0 ko, x=—1,8



[ 136]
WD IR TR AREI SN,

x*+4x=0
(FARE 2017 )
it
x:
fipes
x=—4,0
fiAE R

X+ 4x=0 x(x+4)=0 x=0, —4

[ 137]

X ¥—2x—85=0 AfEX/X0,
(eFIR 2017 £E)

fife 22

o=

i 2%

x=—5, x=7

fiR

x2—2x—385=0 (x+5)(x—7)=0 x=—5, 7

[ 138]

2 IR 2+ x—12=0 AfRXx7p X\,
(fREE 2017 H5)

i 2 AR

x=

g

x=—4, x=3

fift

X+x—12=0 (x—3)(x+4)=0 x=3, —4

[ 139]

QWFRRA 2 —4x—21=0 ZEX/2E0,
(EIIE 2017 4£E)

it

o=

iR

x=—3, x=17

fiAE

¥i—4x—21=0 WEHHETHE, x—T)(x+3)=0 L>T, x=7, —3



[ 140]

2 WHFER, x®+10x+24=0 ZEX2E,
(IUALE 2017 4£)%)

i

x:

LR

x=—4,x=—06

fig i

22+10x+24=0 x>+ (A +6)x+4xX6=0 (x+4)(x+6)=0 x=—4, —6

[ 141]
WD 2 IR ITFEREMREIpE N,

x*+3x—18=0
(BB 2017 4£)E)

FRZE AR

o=

RS

x=3, —6

i En

x2+3x—18=0 (x—3)(x+6)=0 x=3, —6

[ 142]

2 WA 2+ 5x—6=0 &R},
(BRI 2017 4£E)

FRZHR

=

fiRE

x=—6, x=1

fiAE

¥’ +5x—6=(x+6)(x—1)=0 L->T,x=—86,1

[ 143])

TR FRER 2+ 8x+16=0 Efipx/oEu,
(f8EIR 2017 )

i

x:

il 2

x=—4

fiAE

(x+4)2=0 LoT,x=—4



[ 144]
HRA 2—bx+6=0 ZMX/pE0,
(FKHE I 2018 4E )

P 2E AR

fipze

x=2, 3
fifE R

2’ —b5x+6=0 (x—2)(x—3)=0 Lo, x=2, 3

[ 145])
QWFRRRA x®—6x—T7=0 ZfRX/280,
(iR 2018 4£E)

x=—1,7

g

X2 —6x—TIZONT, FIAS—6, fiAs—7 1705 2 5%, 1 &—T77205
x2—6x—7=0 (x+1x—7)=0 x=—1,7

[ 146]
T FREA 2+ 12x+35=0 EfEIT,
(RAETHS 2018 4EJE)

x=—7, —5
fifE R

x?+12x+35=0 (x+7)(x+5)=0 x=—7, —5



[ 147]
TR FRRA 2+ 6x+8=0 HEXRV,
(CKBRIF 2018 4EFE A)

P 2E AR

fip

x=—4, x=—2
iRt
x2+6x+8=0 x2+(2+4)x+2X4=0 (x+2)(x+4)=0 x=—2, —4

[ 148]
TR P—6x—27=0 HREXI\,
(CKBRFF 2018 4E7 B)

PR A

x=

PR

x=—3, x=9

PR

x2—6x—27=0 x2+{3+(—9Plx+3X(—9)=x+3)(x—9) £>T,x=—3,9

[ 149]
FHER 2+6x—16=0 ZEX/2X0,
(BRI 2018 42 F)

x2+6x—16 IZOUVWT, Fu2d 6, FEAS—16 72D 28T —2 & 87200,
x2+6x—16=0 (x—2)(x+8)=0 x=2, —8



[ 150]

2 WHRER P+Tx=0 ZRE/IpIW,

PR A

x2+7x=0 x(x+7)=0 x=-—7, 0

[[4 151])

2RI X2Hx—6=0 ZHMx/pE\,

i

X= , X=
i

X=—3, x=2

figwn

x2+x—6=0
(x—2)(x+3)=0
FoTx=—-3, 2

[[F 152]

TWFHRR XPH9x+14=0 HERE X\,

e

i

X=—7, x=—2
i
x>+9x+14=0
(x+7)(x+2)=0

KoTx=—-7, —2

CHTIE IR 2019 4E )

(B 2019 4B

(KRB A 2019 4EBE)



[ 153]

2R x*—3x—4=0 #FMX/I\,
(LR 2019 4E )

PR A

X2+ (1—4)x+ 1% (—4)=0
(X+1)(x—4)=0
LoTx=—1, 4

(9 154])

2 WHFFER x2—T7x—18=0 ZfET,
(Z=ZRIE 2019 4E %)

P

PR

Xx=—2, x=9

fifE e,

MA—7, FER—18 L7225 281L2 & —97271 b
X2—7x—18=0

(x+2)(x—9)=0

Xx=—2, 9

[ 155]

WD ZIRFTFEREME 72 E 0,
(CFnagk L 2019 4EBT)
x2—9x=0

X2—9x=Xx(x—9) & ¥V
X(x—9)=0
L->Tx=0, 9



[ 156]
TWRFRER 22 —x=0 xR0,

(fEE I 2019 42BF)

WROFRERAD S 6, 4 13 THLIHERIIEND, TOT~IOFNLHTULEDL L DOETITRY, 7D

it
X:
iR 2%
P §
x=0, 2
iRt
1
2¢*—x=0 x(2x—1)=0 X~7T, x=0, 5
[ 157])
FCEZ L,
7 2x=8
1 1
1 X=3
7 Xx(x+4)=0

I x>—x—12=0

i 22

fiR 2%

7, T

fift

KT x=4 XA LT, HEANKY SLOH D &S,
7 2X4=8--F% VLD,

A ZX4=2 W AT,

D 4AX(4+4)=32--FK Y LTz,

I 42—4—12=0 Y L,
EoTaMEThsHBERTT, T

(FEVR IR 2019 %)



[ 158]
TR 2x(5x—8)=3x*+5x DL I TN, ELL A
WETEN 1255,

Zosx, ELLBVWERIT Th D,

WDOT~IDH Bk 1 DEY, ft5 TELRE,
(B 2019 4E )
D0 HQ~DZE

7
1 Q@r6R~DEF
v Q@@ ~DE

I @rs0~DER

PR A

fipzs
Z
g

2x(5x— 8)=3x2+5x
10x2— 16x=3x2+5x---D
7x>—21x=0---@

2~ 3x=0-B
X:S...@

BN @ ~DERTHHE X Tho TIEWTRNDT, ZOEENELL U,

[ 159]
2 WHFFER X>—9x=0 ZRX72 X\,

AR
X pr—
fipzs

x=0, 9

[ 160]
2WFERX X2+ 6x—16=0 ZHEx/pE0,

FRZE AR

X= , X=
fiA 28
X=—8, x=2

fiE

Fe3l) % R L C
(x+8)(x—2)=0
Xx=—8, 2

I

(iR KL 2020 42FE)

(B LR 2020 4B



[ 161]
WD 2 WA E 72 &0,

x2—7x+12=0

AR
X pr—
fipze

Xx=3, 4

[ 162]
T FHRERA X2+3x—10=0 AR E\V,

F 22 AR

fR2%

X=—5, Xx=2

[ 163]
TR X2 —3x—4=0 X/,

[ 164]
TR P+ 2x—35=0 RS,

PR A

=
N
Ny

(BE IR 2020 4 )

(KRBT A 2020 4F )

(fEE IR 2020 4F %)

(IR 2020 4REE)



[4 165]

2R P+ TXx—18=0 2R X 72 XU,
(RAFIR 2020 4E )

PR A

[ 166]

iR —5, 1 D250 L5, XIZONWTO2RFTEXE, 12925 D&,
(BEFS IR 2021 AEBE BT

fiR 2

x>+4x—5=0

fiAE

=& 2%, 2B XCP+Hx—6=0 OfRIL, LD KESHETHZ LT
x+3) (x—2)=0 = x=—3, 2B ENTXD,

Z DEMEZ WINEIZAER L CTWDTIE LV,
fiERN—5, 1 L7252 LRG0T

(x+5) (x—1)=0

ThERBELT, x¥*+4x—5=0

[ 167]

2 WFREA x2—11x+28=0 ZfEX7 X\,
(B 2021 4 )

[ 168]
2 WHA X°—Tx—18=0 ZfRZ 72 &,
(HAYIR 2021 4FF)
il
X= , X=
fiR

Xx=—2, x=9



[ 169]
TWFRERA X2—4x—21=0 HMRE I\,

PR A

it
X=—3, Xx=7

Jiixy

[[4 170]
FRER x2+8x+12=0 %X/ I,

[ 171]
FHER x°+5x—6=0 ZfEX7I\,

(CRBRFF A 2021 4E )

(BRI 2021 4E%)

(R B 2021 425)



